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Choose the correct answer from the following
alternatives :
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The probability of the intersection of two
mutually exclusive events is always
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The range of the beta.variate of first
kind is

(i) (0, )

()

(iii) (0, 1)

(iv) (-1, +1)

2x6=12

Answer the following questions :
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What is the probability that a leap-
year selected at random will contain
53 Sundays?
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; An urn contains 5 red and 6 black balls.
Two drawings of two balls in each draw
are made. Find the probability of getting
+wo red balls in the first draw and two

black balls in the second draw if the
balls are not returned to the urn after

the first draw.
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State and prove the multiplicative law of
probability.
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The joint distribution of X and Y are
given by
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Find the marginal probabilitly density
functions of X and Y.

(i) TEACTE g Fo X/ Y WF Y/X fefa
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Find the conditional density
functions of X/ Y and Y/X.
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Test whether X and Y are

independent.
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Define moment-generating function
of a random variable X.
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Define characteristic function of a
random variable. If X is some random
variable with characteristic function
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Derive Poisson distribution as &
limiting form of binomial distribution.
Give two examples of Poisson
distribution.
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1f X follows binomial distribution with
probability mass function
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Defi o
Ine hypergeometric distribution.

Derive the
recurren i
e ce relation for

it S of hypergeometric
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Let the two independent random
variables X; and X, have the
same geometric distribution. Show
that the conditional distribution of
X, /(X +Xo =n)is uniform.
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Define exponential distribution.
Derive the m.g.f. of the distribution
and find the mean and variance of
exponential distribution from m.g.f.
and comment on it.
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